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i/ Recursive stamp problem solver - njm
// 5 and 7 cent stamps, assumes total is at least 28

void solve(int total,int *five, int *seven)
{
// base case
if (total==28){ // 7+7+7+7
*Tive=0; *HQENEE: return;

}

// solve for total-1
solve(total-1, five,seven);

// If there are *at least* two 7-cent stamps,
// we can replace them with three 5's
// (total postage increases by 1).

if (*seven >= 2){
(*seven)=(*seven)-2; // remove two 7 cent stamps (-14)
(*five)+=3; // and add 3 five cent stamps (+15)
return; // net change is +1 cent :)

}

// Otherwise, there's only one 7 cent stamp,

// so there must be at least four 5 cent stamps.

// Replace four 5 cent stamps with three 7 scent stamps
// (total postage increases by 1).

(*five)=(*five)-4; // remove four 5 cent stamps (-20)
(*seven)=(*seven)+3; // and add three 7 cent stamps (+21)
"solve.c" 32L, 941B
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// Recursive stamp problem solver - njm
// 5 and 7 cent stamps, assumes total is at least 28

void solve(int total,int *five, int *seven)
{
// base case
if (total==28){ // 7+7+7+7
*Tive=0; *HQENEE: return;

}

// solve for total-1
solve(total-1, five,seven);

// If there are *at least* two 7-cent stamps,
// we can replace them with three 5's
// (total postage increases by 1).

if (*seven >= 2){
(*seven)=(*seven)-2; // remove two 7 cent stamps (-14)
(*five)+=3; // and add 3 five cent stamps (+15)
return; // net change is +1 cent :)

}

// Otherwise, there's only one 7 cent stamp,

// so there must be at least four 5 cent stamps.

// Replace four 5 cent stamps with three 7 scent stamps
// (total postage increases by 1).

(*five)=(*five)-4; // remove four 5 cent stamps (-20)
(*seven)=(*seven)+3; // and add three 7 cent stamps (+21)
"solve.c" 32L, 941B
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void solve(int total,int *five, int *seven)
{
// base case
if (total==28){ // 7+7+7+7
*fTive=0:*seven=4:return;

}

// solve for total-1
solve(total-1,five,seven);

// If there are *at least* two 7-cent stamps,
// we can replace them with three 5's
// (total postage increases by 1).

if (*seven >= 2){
(*seven)=(*seven)-2; // remove two 7 cent stamps (-14)
(*five)+=3; // and add 3 five cent stamps (+15)
return; // net change is +1 cent :)

}

// Otherwise, there's only one 7 cent stamp,

// so there must be at least four 5 cent stamps.

// Replace four 5 cent stamps with three 7 scent stamps
// (total postage increases by 1).

(*five)=(*five)-4; // remove four 5 cent stamps (-20)
(*seven)=(*g3%EY)+3; // and add three 7 cent stamps (+21)
return; // next change is +1 cent
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Finclude <stdio.h> E
// 5 and 7 cent stamps, at least 28 cents postage
// njm
void solve(int, int*, int*); // this is the solver
// postage is given on command line
L

int total,five,seven;

// legal argument?
if ((argc !'= 2) || (sscanf(argv[1],"sd",&total) != 1) || (total < 28)){
printf("Usage: %s postage (at least 28)\n",argv[0]);

void main(int argc, char **argv)
return;
}

{
// solve it!
solve(total,&five, &seven);

// and display results
printf("\n");
for (int i=0;i<five;i++) printf("5 "); // show the stamps :)
for (int 1=0;i<seven;i++) printf ("7 ");
printf("\n\n");
printf("# of 5 cent stamps: %d\n# of 7 cent stamps: %d\n",
five,seven);

}

“stamp.c" 28L, 684B
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{2204} stamp 28
7777
# of 5 cent stamps:

# of 7 cent stamps:
{2205} stamp 289

555555555555555555555555555555555555555555555555555555577

# of 5 cent stamps:
# of 7 cent stamps:
{2206} stamp 29

55577

# of 5 cent stamps:
# of 7 cent stamps:
{2207} stamp 30
555555

# of 5 cent stamps:
# of 7 cent stamps:
{2208} stamp 31
55777

# of 5 cent stamps:

# of 7 cent stamps:
{2209}
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555555

# of 5 cent stamps:
# of 7 cent stamps:

{2208} stamp 31

55777

# of 5 cent stamps:
# of 7 cent stamps:

{2209} stamp 32

555557

# of 5 cent stamps:
# of 7 cent stamps:

{2210} stamp 33

ST71T77

# of 5 cent stamps:
# of 7 cent stamps:

{2211} stamp 34

555577

# of 5 cent stamps:
# of 7 cent stamps:

@D O

(WY N

=

4
2

{2212} stamp 34377621

Segmentation fault
{2213}
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include <stdio.h> -

int fact(int);

int main()

{
int n;
char temp[120];

printf("Enter n: ");
fgets(temp,120,stdin);
sscanf (temp, "%d",&n);

// calculate n!
printf("sd!=%d\n",n, fact(n));
}

int fact(int n)

{

if (n==0) return(1);

return(n*fact(n-1));

"fact.c" 21L, 266B
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#1include <stdio.h> -

int fact(int);

int main()

{
int n;
char temp[120];

printf("Enter n: ");
fgets(temp,120,stdin);
sscanf (temp, "%d",&n);

// calculate n!
printf("sd!=%d\n",n, fact(n));
}

int fact(int n)

{

if (n==0) return(1);

return(n*fact(n-1));

"fact.c" 21L, 266B
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